10

11

12

13

14

oLk | BRIl R ERRTEAREEE L= N TIPS
12/16 12/17 12/23 12/17 12/16
(a—r4) CDEF A B CDEF (a—r48)
SRR =5
FrLoShy TG 39 37 FrlLoShy T3
e N2 Z F FEITH
38 28
ABRH3
37 32
F N BHE
27 19 Jiam2
= m 23 BEES
KR4 K2
R 45 31
& H 31 B
20
M B 44 2 =
33 24 -
ABRH5
46 36
X ZE K E
R 3 30
F R 30 A3 a1 EILE
Al 12:40 B1
Ko
19 39 o -
HILME Hi ]
39 49
RILRE1 JtiRI A1
bR E 49 95 = BA
25 31
A B 1
50 32
FE IWEE—
32 37
T " ~ m
24 32
/NI B Ji
34 B3 39
1240
A 1 - a5 £ %
22 51 -
FrlLoThy Tt FylLoThyT 24t
FEHHA 82 4 Fi#am

15

16

17

18

19

20

21

22

23

24

25

26

27

28



—_
o

—_
—_

—_
N

—_
w

—
N

BLK | BRILZEBRER ERRTEAREEE N2 N RS TIDN
12/16 12/17 12/23 12/17 12/16
(a—r4) CDE A B CDE (a—+4)
| KBR =5
FrLoThy T 87 42 FrLrThy Tt
it = X E
= 57 % T 37
o 29 33
LLHE= FEFHH
A TR 54 7 z
=B 3 " o
b5 1
~ 30 38
= B FHRHE
23 23
KR 6
¥ B - p” F =
V3 25
31 29
O IWAER
K5 55 30 K2
£ E 3 N 13?‘)0 - 23 E O
5%4 10:40 10:40 7?;”:7?@1
e 43 26
IHEE— xrE
33 16
AR 3 KiRh7
BAES ’8 34 AL
56 33 E5
1330 Jiam2
35 26
+ ¥ W iR
37 27 ABRH 1
INF/B o2 29 Rk #
49 30
REQ IESD
30 138-150 2
|
X E o2 34 I\NF/BHE
27 35 _
| KBR
FrlLoThy Tt FylLoThyT 24t
“HE 44 4l Fi#am

15

16

17

18

19

20

21

22

23

24

25

26

27

28



